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Answer the following questions
Q1: Put (√) against correct phrases, (X) against the wrong ones and state all possible corrections for the wrong statements
1- All eukaryotic cells have two compartments; cytoplasm and nucleus.  
2- Chromatin is the main constituent of the cytoplasm, however ER is mainly found in the nucleus.

3- In tissue preparations for light microscope, the tissue has to be frozen before sectioning.

4- The chromatin of a cell is in the form of Euo, hetro or a chromosome. It can not switch between different forms. 
5- Genetic materials which are responsible for inheritance are present in mitochondrial DNA. 6- In mitosis, each mother cell (2n) gives rise to two daughter cells; each of them bears half the number of chromosomes (n). 

7- Studying how cells divide is one of the main topics of cell biology, however, Investigating the anatomy of the body is not cell biology.
8- The main role of mitochondria is to produce proteins.
9- Hence the nucleus is a vital organelle of the cell, it is protected by a double membrane which completely isolate it from the rest of the cell.

10- Lysosomes are very important organelles, where they are considered to be the energy factory of the cell.          
Q2: Choose the best answer: 
1- Cell division has to be fully controlled, because any error could cause

A – Influenza                b- Diabetes       c- cancer            d- abdominal pain

2- If the ER failed to correctly fold a protein, this protein will be
A- Transported from the ER directly to the lysosomes for degradation.
B- Transported from the ER to Golgi then to the protein destination.
C- Transported from Golgi apparatus to the ER again to be refolded.
D- Transported from the ER to the nucleus to be re-made.

3- If a mutation occurred in a gene responsible for mitochondrial activities

A- The cell will not be affected

B- The cell will slightly affected

C- The cell will be massively affected

D- None of the following

4- If a mutation prevented the formation of Golgi vesicles, this will lead to

A- Accumulation of the newly formed proteins in both Golgi and the ER. 

B- Nothing

C- Protein mis-folding 

D- Transportation of the proteins to wrong destinations.

5- To increase the surface area of absorption in intestinal cells, the cell membranes of these cells are provided by..

A- Microvilli    B- Invaginations      C- Basement membranes      D- Desmosomes


End of Questions

Best of Luck

D. Mohamed Kamal
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